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General Studies Model Questions – 8 

1. In common emitter circuit, the value voltage gain is 

 (A) maximum     (B) minimum 

 (C) same as in other configuration  (D) zero 

 Ans – (A) maximum   

 nghJ ckpo;g;ghd; Mw;wy; kpd;dOj;jg; ngUf;fj;jpd; kjpg;G 

(A) mjpfk;     (B) FiwT 

(C) kw;w kpd;Rw;wikg;Gfs; Nghy  (D) G+[;ak; 

Ans – (A) mjpfk; 

2. Which one of the following event is not related with Indira Gandhi? 

 (A) Indo-Soviet Treaty of Peace and Friendship 

 (B) Bhopal Poisonous Gas Leak Tragedy 

 (C) Operation Blue Star 

 (D) Indo-Pakistan War, 1971 

 Ans - (B) Bhopal Poisonous Gas Leak Tragedy 

 fPo;tUtdtw;Ws; ve;j xU epfo;T ,e;jpuh fhe;jpNahL njhlh;gpy;yhjJ? 

(A) ,e;jpa-Nrhtpaj; mikjp> el;GwTf;fhd cld;gbf;if 

(B) Nghghy; tp\thA frpTj; Jauk; 
(C) ePy el;rj;jpu eltbf;if 

(D) ,e;jpa-ghfp];jhd; Nghh;> 1971 

Ans – (B) Nghghy; tp\thA frpTj; Jauk; 

3. Which one of the following is incorrectly matched? 

 (A) Teflon  -  Tetrafluoro ethylene 

 (B) Plexi glass  - methyl methacrylate 

 (C) Orlon  - Glycerol, phthalic anhydride 

 (D) Buna-s  - Styrene, 1, 3-butadiene   

 Ans - (C) Orlon  - Glycerol, phthalic anhydride 

 gpd;tUtdtw;wpy; vJ rhpahf nghUe;jtpy;iy? 

 (A) nlg;yhd;  - nll;uhGNshNuh vj;jpyPd; 

 (B) g;nsf;]p fpsh]; - nkj;jpy; nkj;jhf;uNyl; 

 (C) Mh;yhd;  - fpspruhy;> jhypf; ePhpyp 
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 (D) gpA+dh-8  - ];ilhPd;> 1>3-gpA+l;lhilaPd; 

 Ans - (C) Mh;yhd; - fpspruhy;> jhypf; ePhpyp 

4. ------------------ Vitamin is derived only from animal food. 

 (A) B12   (B) B1   (C) B3   (D) B2 

 Ans – (A) B12   

----------- itl;lkpd; mirt cztpy; kl;Lk; fpilf;f $baJ. 

 (A) B12   (B) B1   (C) B3   (D) B2 

 Ans – (A) B12   

5. The chemical identified to trap malaria mosquitoes is 

 (A) Redcol  (B) Decrol  (C) Cedrol  (D) Ecdrol 

Ans – (C) Cedrol 

--------------- vd;w Ntjpg; nghUs; kNyhpah nfhRf;fis ftUk; jd;ikAilajhf 
fz;lwpag;gl;Ls;sJ. 

(A) nul;fhy;  (B) nlf;uhy;  (C) nrl;uhy;  (D) vf;l;uhy; 

Ans – (C) nrl;uhy;  

6. Goitere is developed as a result of lack of --------------- in the thyroid gland. 

 (A) Iodine  (B) Calcium  (C) Potassium  (D) Sodium 

 Ans – (A) Iodine  

 ijuha;L Rug;gpapy; Vw;gLk; ,jd; Fiwthy; clypy; fha;l;lh; tpahjp Vw;gLfpd;wJ. 

 (A) mNahbd;  (B) fhy;rpak;  (C) nghl;lhrpak; (D) Nrhbak; 

 Ans – (A) mNahbd;  

7. The outlines of second five year plan was  made by 

 (A) B.N. Godgil    (B) V.K.R.V Rao 

 (C) P.C. Mahalanobis    (D) C.N. Vakil 

 Ans – (C) P.C. Mahalanobis  

 ,uz;lhk; Ie;jhz;Lj; jpl;lj;jpy; filgpbf;fg;gl;l Af;jp Kiw ahuhy; cUthf;fg;gl;lJ? 

 (A) B.N. fhl;fpy;    (B) V.K.R.V uht;. 

 (C) P.C. kfyhNehgp];    (D) C.N. tf;fPy; 

 Ans – (C) P.C. kfyhNehgp]; 

8. On which date the objectives Resolutions was adopted by the Constituent Assembly? 
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 (A) January 22
nd

 1947    (B) November 26
th
 1949 

 (C) January 26
th
 1950    (D) January 22

nd
 1950  

 Ans – (A) January 22
nd

 1947   

,e;jpa murpayikg;G eph;za rig ve;ehspy; Fwpf;Nfhs;fs; mlq;fpa jPh;khdj;ij Vw;Wf; 
nfhz;lJ ? 

 (A) [dthp 22, 1947    (B) etk;gh; 26, 1949 

 (C) [dthp 26, 1950    (D) [dthp 22, 1950  

 Ans – (A) [dthp 22, 1947   

9. Assertion (A) : Under the constitution, the Chief Minister holds office till the pleasure of the  

Governor 

 Reason (R) : The Chief Minister is appointed by the Governor. 

(A) Both (A) and (R) are true and (R) is the correct explanation of (A). 

(B) Both (A) and (R) are true but (R) is not a correct explanation of (A). 

(C) (A) is true but (R) is false. 

(D) (A) is false but (R) is true. 

 

Ans – (A) Both (A) and (R) are true and (R) is the correct explanation of (A). 

$w;W (A) : murpayikg;Gr; rl;lj;jpd;gb Kjyikr;rh; MSehpd; tpUg;gk; cs;stiu 
kl;LNk jdJ gjtpia tfpf;fpwhh;. 

fhuzk; (R) : Kjyikr;rh; MSeuhy; epakpf;fg;gLfpwhh;. 

(A)  (A) kw;Wk; (R) ,uz;LNk rhp NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fkhFk;. 
(B)  (A) kw;Wk; (R) ,uz;LNk rhp Mdhy; (R) vd;gJ (A) tpw;F rhpahd tpsf;fky;y. 
(C) (A) rhp Mdhy; (R) jtW. 
(D) (A) jtW Mdhy; (R) rhp 

 

Ans – (A) kw;Wk; (R) ,uz;LNk rhp NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fkhFk;. 

10. The budget is presented in the House of the people 

 (A) by the President    (B) by the Prime Minister 

 (C) by the Finance Minister   (D) by the Finance Secretary 

 Ans - (C) by the Finance Minister 

 kf;fsitapy; tuT nryT jpl;lj;ij rkh;g;gpg;gth; 

 (A) FbauRj; jiyth;    (B) gpujk ke;jphp 

 (C) epjpaikr;rh;    (D) epjpr; nrayh; 

 Ans - (C) epjpaikr;rh;    
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11. Which of the following states was the first to introduce the Panchayat Raj System? 

 (A) Tamilnadu      (B) West Bengal 

 (C) Rajasthan      (D) Uttar Pradesh 

 Ans - (C) Rajasthan 

 gQ;rhaj;J uh[; mikg;ig Kjd; Kjyhf mwpKfk; nra;j khepyk; 

(A) jkpo;ehL     (B) Nkw;F tq;fhsk; 

(C) uh[];jhd;     (D) cj;jpug;gpuNjrk; 

Ans – (C) uh[];jhd;   

12. Which part of the Indian Constitution deals with the Union Territory? 

 (A) Part – VI     (B) Part – VII 

 (C) Part – VIII     (D) Part – IX 

 Ans - (C) Part – VIII 

 ,e;jpa murpayikg;gpy; ve;jg; gFjp A+dpad; gpuNjrq;fs; gw;wp $WfpwJ? 

 (A) gFjp – VI      (B) gFjp – VII 

 (C) gFjp – VIII     (D) gFjp – IX 

 Ans - (C) gFjp – VIII 

13. Right to vote and to be elected in India is a  

 (A) Fundamental Right    (B) Constitutional Right 

 (C) Natural Right    (D) Legal Right 

Ans - (B) Constitutional Right 

 ,e;jpahtpy; thf;fspf;Fk; chpik kw;Wk; Njh;e;njLf;fg;gLk; chpik vd;gJ 

(A) mbg;gil chpik    (B) murpayikg;G chpik 

(C) ,aw;if chpik    (D) rl;l chpik 

Ans – (B) murpayikg;G chpik 

14. The NDC decided to launch a programme to incentive the states to increase the share to 

investment in agriculture in their state plans. This programme is called as 

 (A) RKVY  (B) PMGY  (C) CDB  (D) MIDH 

 Ans - (A) RKVY  

 NDC epWtdk;> Ntshz;ikia Cf;fg;gLj;jTk;> Ntshz;ikia mjpfkhd KjyPl;il 
J}z;lTk; khepyq;fspy; xU jpl;lj;ij Muk;gpj;jJ. mjd; ngah; 
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 (A) RKVY  (B) PMGY  (C) CDB  (D) MIDH 

 Ans - (A) RKVY  

15. In India the level of consumer expenditure is desirable which secure a diet adaptation at least in 

terms of calories is said by 

 (A) Dr.Minhas     (B) P.K. Bardhan 

 (C) Dandekar and Rath    (D) V.K.R.V. Rao and Ashok Mitra 

 Ans - (C) Dandekar and Rath  

 ,e;jpahtpy; Efh;Nthhpd; tpUk;gj;jf;f nrythdJ ve;j msT cztpd; msit 
vLg;gjw;F ghJfhg;G nfhLf;fpwJ vd;W $wpath; 

 (A) Dr. kpd;`h];    (B) .P.K. gh;jhd; 

 (C) ld;Nlfh; kw;Wk; uhj;   (D) V.K.R.V. uht; kw;Wk; mNrhf; kpj;uh 

 Ans - (C) ld;Nlfh; kw;Wk; uhj; 

16. Recently CSO has changed the base year for National income estimates. The new base year is 

 (A) 1993-1994      (B) 1994-1995    

(C) 1999-2000      (D) 2004-2005 

Ans - (C) 1999-2000   

 Njrpa tUkhdk; fzf;fplg;gLtjw;F mbg;gil Mz;L CSO khw;wpaikj;jpUf;Fk; Mz;L 

 (A) 1993-1994      (B) 1994-1995    

(C) 1999-2000      (D) 2004-2005 

Ans - (C) 1999-2000   

17. The Government of Tamilnadu has introduced an insurance scheme for life savaing treatments for 

the families having an annual income of less than 

 (A) Rs.15,000  (B) Rs.24,000  (C) Rs.25,000  (D) Rs.20,000 

Ans - (B) Rs.24,000 

 jkpof muR nghJkf;fspd; caph;fhf;Fk; kUj;Jt nrytpw;fhf fhg;gPl;L trjp ------------- 
fPo; tUl tUtha; ngWk; FLk;gq;fSf;F mspj;Js;sJ. 

 (A) &.15,000  (B) &.24,000  (C) &.25,000  (D) &.20,000 

Ans - (B) &.24,000 

18. The National Afforestation and Eco-Development Board was set up in India on 

 (A) August 1990    (B) August 1991 

 (C) August 1992    (D) August 1993 
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 Ans - (C) August 1992 

 ,e;jpahtpy; Njrpa fhLfs; tsh;g;G kw;Wk; nghUshjhu Kd;Ndw;w thhpak; epWtg;gl;lJ. 

 (A) Mf];l; 1990    (B) Mf];l; 1991 

 (C) Mf];l; 1992    (D) Mf];l; 1993 

 Ans - (C) Mf];l; 1992 

19. Swami Dayanand founded Arya Samaj in 

 (A) Bombay  (B) Calcutta  (C) Delhi  (D) Lucknow 

 Ans - (A) Bombay  

 Rthkp jahde;jh; Mhpa rkh[j;ij Njhw;Wtpj;j ,lk; 

(A) gk;gha;    (B) fy;fj;jh 

(C) nly;yp    (D) yf;Ndh 

Ans – (A) gk;gha; 

20. What is the percentage of net irrigated area in India under tank irrigation? 

 (A) 14-15%  (B) 10-12%  (C) 13-14 %  (D) 14-16% 

 Ans - (C) 13-14 % 

 ,e;jpahtpd; epfu ePh;ghrd gug;gstpy; Vhp ghrdj;jpd; tpOf;fhL vd;d? 

 (A) 14-15 tpOf;fhL    (B) 10-12 tpOf;fhL 

 (C) 13-14 tpOf;fhL    (D) 14-16 tpOf;fhL 

 Ans - (C) 13-14 tpOf;fhL  

21. Which of the following is not a solid planet? 

 (A) Mercury   (B) Venus  (C) Earth   (D) Jupitar 

Ans - (D) Jupitar 

gpd;tUtdtw;Ws; vJ jplf;Nfhs; my;y? 

(A) Gjd;  (B) Gjd;  (C) G+kp   (D) tpahod; 

Ans – (D) tpahod; 

22. What is the length of Indus river in Indian Terriotry? 

 (A) 719 km in india    (B) 700 km in india 

 (C) 709 km in india    (D) 740 km in india 

Ans – (C) 709 km in india 

,e;jpa epyg;gFjpf;Fs; rpe;J ejpapd; ePsk; vd;d? 
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(A) 719 fp.kP  (B) 700 fp.kP  (C) 709 fp.kP  (D) 740 fp.kP 

Ans – (C) 709 fp.kP  

23. Which of the following holds the ROM, CPU, RAM and expansion cards? 

 (A) Hard disk    (B) Cache memory 

 (C) Mother Board   (D) Main Memory 

 Ans – (C) Mother Board 

 fPof;fz;ltw;wpy;> vJ ROM, CPU, RAM kw;Wk; tphpthf;f ml;ilia gpbj;Jf;nfhs;Sk;? 

 (A) epiytl;L     (B) ,ilkhw;W epidtfk; 

 (C) jha;g;gyif    (D) Kjd;ik epidtfk; 

 Ans - (C) jha;g;gyif   

24. The father of white revolution in India 

 (A) M.S. Swaminathan    (B) Verghese Kurian 

 (C) C.Subramaniam    (D) Hargobind Khurana 

Ans - (B) Verghese Kurian 

,e;jpahtpy; ntz;ik Gul;rpapd; je;ij 

(A) M.S. Rthkpehjd;    (B) th;fP]; Fhpad; 

(C) C. Rg;ukzpak;    (D) `h;Nfhgpd; Fuhdh 

Ans – (B) th;fP]; Fhpadh 

25. The institution that hops the ranking among colleges in NIRF-2017 is 

 (A) Loyola College    (B) St.Xavier’s college 

 (C) Shri Ram college of commerce  (D) Miranda House 

Ans - (D) Miranda House 

NIRF-2017 ,y;> Njrpa mstpy; ve;j fy;Y}hp Kjyplk; gpbj;Js;sJ? 

(A) yNahyh fy;Y}hp    (B) Gdpj Nrtpah; fy;Y}hp 

(C) =uhk; tzpf fy;Y}hp   (D) kpuhz;l ,y;yk; 

Ans - (D) kpuhz;l ,y;yk; 

26. The Central Government scheme that ensures a pucca to every urban poor household by 2022 is  

 (A) Pradhan Mantri Awas Yojana  (B) Smart City Mission 

 (C) Pradhan Mantri Fasal Bima Yojana  (D) Pradhan Mantri Jan Aushandhi Yojana 

 Ans - (A) Pradhan Mantri Awas Yojana 
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2022-w;Fs; efuq;fspy; thOk; ViofSf;F epue;ju tPL nfhLf;Fk; kj;jpa murpd; jpl;lk; 
vJ? 

(A) gpujk ke;jphpapd; mth]; Nah[dh (B) ]khh;;l; rpl;b kp\d; 

(C) gpujk ke;jphpapd; /ghry; gPkh Nah[dh; (D) gpujk ke;jphpapd; [d; mT\j;jp 
Nah[dh 

Ans - (A) gpujk ke;jphpapd; mth]; Nah[dh 

27. The WHO Director-General’s Special Recongnition Award for global tobacco control has been 

confereed to 

 (A) Raj Nath Singh    (B) Arun Jaitley 

 (C) Maneka Sanjay Gandhi   (D) J.P. Nadda 

Ans - (D) J.P. Nadda 

cyfstpy; Gifapiy jLg;Gf;F nrayhw;wpaikahy; cyf Rfhjhu epWtd jiythpd; 
rpwg;G mq;fPfhu tpUij ngw;wth; 

(A) uh[; ehj; rpq;    (B) mUz; n[l;yp 

(C) Nkdfh rQ;ra; fhe;jp   (D) J.P. el;lh 

Ans - (D) J.P. el;lh 

28. The agency in India that is authorized to maintain Indian Standard Time (IST) is  

 (A) International Bureau of Weights and measures 

 (B) All India Radio 

 (C) National Physical Laboratory 

 (D) Bhabha Atomic Research Centre 

 Ans – (C) National Physical Laboratory 

 ,e;jpa jpl;l Neuj;ij guhkhpf;Fk; epWtdk; vJ? 

(A) rh;tNjr vil kw;Wk; mstPLfspd; nrayfk;. 
(B) midj;jpe;jpa thndhyp 
(C) Njrpa ngsjpa Ma;tfk; 
(D) ghgh mZ Muha;r;rp ikak; 

Ans – (C) Njrpa ngsjpa Ma;tfk; 

29. Phosphorous strait divides the continents of 

 (A) Asia and Africa    (B) Asia and Australia 

 (C) North America and South America  (D) Europe and Asia 

Ans - (D) Europe and Asia 



Winmeen VAO Mission 100 2018 

 

9 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

gh];gu]; ePhpizg;G ve;j ,U ngUq;fz;lq;fis gphpf;fpwJ? 

(A) Mrpah kw;Wk; Mg;hpf;fh   (B) Mrpah kw;Wk; M];bNuypah 

(C) tl kw;Wk; njd; mnkhpf;fh  (D) INuhg;gh kw;wk; Mrpah 

Ans – (D) INuhg;gh kw;wk; Mrpah 

30. India’s first private railway station is 

 (A) Habibganj  (B) Bilaspur  (C) Kachiguda  (D) Sealdah 

 Ans - (A) Habibganj  

 ,e;jpahtpd; Kjy; jdpahh; uapy; epiyak; vJ? 

 (A) `gPg;fQ;  (B) gpsh];G+h;  (C) fr;rpFlh  (D) rPy;lh 

 Ans - (A) `gPg;fQ;  

31. Which one of the following is not variant of PSLV? 

 (A) PSLV – G  (B) PSLV-CA  (C) PSLV-XL  (D) PSLV-Ulv 

Ans - (D) PSLV-uLV 

 fPo;fz;l vJ PSLV-apd; tif my;y? 

 (A) PSLV – G  (B) PSLV-CA  (C) PSLV-XL  (D) PSLV-Ulv 

Ans - (D) PSLV-uLV 

32. 5
th
 Bhupen Hazarika National Award, 2017 was conferred on 

 (A) Madhuri Purandare   (B) Dr. Arunava Chattopadhyay 

 (C) Yeshe Dorjee Thongshi  (D) Jeeja Ghosh 

 Ans - (C) Yeshe Dorjee Thongshi 

 2017-y; Ie;jhtJ G+g;gd; `hrhhpf;fh Njrpa tpUJ ngWgth; 

(A) khJhp Guhz;lhNu    (B) Dr. mUzhth rl;Nlhgj;ahNa 

(C) a\;\p lhh;[P Njhq;\p   (D) [P[h Nfh\; 

Ans – (C) a\;\p lhh;[P Njhq;\p  

33. Consider the following statements : 

(a) The raising of salt duty from 50 paise to one rupee in Surat in 1844, Caused a great 

discontent among the people. 

(b) Faced with a popular movement the government with drew the additional salt levy. 

Choose the correct answer from the option given below : 

(A) Both (a) and (b) are true 
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(B) (a) is true and (b) is false 

 

(C) Only (a) is true 

 

(D) Only (b) is true 

Ans – (A) Both (a) and (b) are true 

 fPo;f;fz;l thf;fpaq;fis ftdpf;fTk;. 

(a) 1844-k; Mz;L #uj;jpy; cg;G thpia Ik;gJ igrhtpypUe;J xU &ghahf 
cah;j;jpajhy; kf;fs; mjpUg;jp mile;jdh;. 

(b) kf;fspd; Nghuhl;lj;jpw;F gpd;dh;> muR cah;j;jpa $Ljy; cg;G chpia jpUk;gg; 
ngw;wJ. 

fPo;f;nfhLf;fg;gl;ljpypUe;J rhpahd tpilia njhpT nra;aTk;. 

(A) (a) kw;Wk; (b) ,uz;LNk rhp 
(B) (a) rhp Mdhy; (b) jtW 

(C) (a) kl;Lk; rhpahdJ 

(D) (b) kl;Lk; rhpahdJ. 

Ans – (A) (a) kw;Wk; (b) ,uz;LNk rhp 

34. Which mission was sent to India in 1946 that comprised of Lord Pethick Lawrence, Sir Stafford 

Cripps and A.V.Alexander? 

 (A) Cabinet Mission  (B) Cripps Mission  

 (C) Simon Commission  (D) Chelmsford Mission 

 Ans - (A) Cabinet Mission 

 ngjpf; yhud;]; gpuG> rh; ];lhNghh;L fphpg;]; kw;Wk; A.V. mnyf;rhe;jh; mlq;fpa ve;j 
J}Jf;FO 1946-y; ,e;jpahtpw;F mDg;gg;gl;lJ? 

 (A) Nfgpdl; J}Jf;FO   (B) fphpg;]; J}Jf;FO 

 (C) irkd; FO   (D) nrk;];Nghh;L FO 

 Ans – (A) Nfgpdl; J}Jf;FO   

35. The Chola kings provided lands to the officers and their successors were called as 

 (A) Sala Bogam  (B) Tiruthabogam (C) Jividham  (D) Viruthibogam 

 Ans - (C) Jividham 

 mjpfhhpfSf;Fk; mth;fs; ,we;jgpd; mth;jk; thhpRfSf;Fk; Nrho kd;dh;fshy; 
toq;fg;gLk; epyk; ,t;thW miof;fg;gLfpwJ? 

 (A) rhy Nghfk;    (B) jpUj;j Nghfk; 

 (C) [Ptpjk;     (D) tpUj;j Nghfk; 
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 Ans – (C) [Ptpjk; 

36. In 1760, Lally was defeated in the battle og Vandavasi by 

 (A) Robert Clive (B) Sir Eyer Coote (C) John Cradock (D) Gillespie 

 Ans - (B) Sir Eyer Coote 

 1760-k; Mz;L ele;j te;jthrp Nghhpy; yhypia Njhw;fbj;jth; ahh;? 

 (A) ,uhgh;l; fpist;    (B) rh; mah; $l; 

 (C) [hd; fpNulhf;    (D) [py;ny];gp 

 Ans – (B) rh; mah; $l; 

37. Thiruvasagam was translated into English by 

 (A) Robert de Nobili (B) Father Mello (C) G.U.Pope  (D) Father Buchard 

 Ans - (C) G.U.Pope 

 jpUthrfj;ij Mq;fpyj;jpy; nkhop ngah;j;jth; 

 (A) ,uhgh;l;-b-nehgpyp     (B) nky;Nyh ghjphpahh; 

 (C) G.U. Nghg;      (D) Gr;rh; ghjphpahh;. 

 Ans – (C) G.U. Nghg; 

38. Which is the First reputed Novel in Tamil? 

(A) Kamalambal Charithiram 

(B) Padmavathi Charithiram 

(C) Pancha Thandiram 

D) Pratapa Mudaliar Charithiram 

Ans - (D) Pratapa Mudaliar Charithiram 

 jkpopy; gpurpj;jp ngw;w Kjy; ehty; vJ? 

 (A) fkyhk;ghs; rhpj;jpuk;   (B) gj;khtjp rhpj;jpuk; 

 (C) gQ;r je;jpuk;    (D) gpujhg Kjypahh; rhpj;jpuk; 

Ans – (D) gpujhg Kjypahh; rhpj;jpuk; 

39. What type of Sampradaya of Vaishnavism was propogated by Ramanuja? 

 (A) Shri Sampradaya  

(B) Brahma Sampradaya 

(C) Rudra Sampradaya 

(D) Sankadi Sampradaya 
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Ans - (A) Shri Sampradaya 

uhkhD[h; it\;zt rkaj;jpd; ve;j tif rk;g;ujhaq;fis Nghjpj;jhh;? 

(A) = rk;g;jhak;    (B) gpuk;k rk;gujhak; 

(C) Uj;u rk;gujhak;    (D) rdhfjp rk;g;ujhak; 

Ans – (A) = rk;g;jhak;   

40. The million wells scheme was launched in the year 

 (A) 1988 – 89  (B) 1990 – 91  (C) 1991 – 92  (D) 1993 – 94 

 Ans - (A) 1988 – 89 

 kpy;ypad; fpzWfs; jpl;lk; Muk;gpf;fg;gl;l Mz;L. 

 (A) 1988 – 89  (B) 1990 – 91  (C) 1991 – 92  (D) 1993 – 94 

 Ans - (A) 1988 – 89 

41. The marked price of an article is 20% more than its cost price. A discount of 10% is given. After 

discount the price is Rs.518.40. What is the cost price? 

 (A) 480  (B) 576  (C) 596  (D) 598 

 Ans - (A) 480 

 xU nghUspd; mlf;ftpiyia tpl Fwpj;j tpiy 20% mjpfk;. 10% js;Sgb 
jug;gLfpwJ. js;Sgbf;F gpd; nghUspd; tpiy &. 518.40. nghUspd; mlf;ftpiy vd;d? 

 (A) 480  (B) 576  (C) 596  (D) 598 

 Ans - (A) 480 

42. If a car travels at 60km per hour for 2 hours and then at the speed of 80km per hour for 4 hours. 

What is the average speed? 

 (A) 68 kmph  (B) 70 kmph  (C) 72.1 kmph  (D) 73.3 kmph 

 Ans - (D) 73.3 kmph 

 xU fhh; kzpf;F 60 fp.kP Ntfj;jpy; 2 kzpNeuk; gpuahzpf;fpwJ. Gpd; 4 kzpNeuk; 
kzpf;F 80 fp.kP Ntfj;jpy; nry;fpwJ. Ruhrhp Ntfk; vd;d? 

 (A) 68 fp.kP/kzp (B) 70 fp.kP/kzp (C) 72.1 fp.kP/kzp (D) 73.3 fp.kP/kzp 

 Ans - (D) 73.3 fp.kP/kzp 

43. By which year the Swatantra Party was established? 

 (A) 1959  (B) 1958  (C) 1957  (D) 1956 

 Ans - (A) 1959 

 Rje;jpu fl;rp ve;j Mz;by; epWtg;gl;lJ? 



Winmeen VAO Mission 100 2018 

 

13 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

 (A) 1959  (B) 1958  (C) 1957  (D) 1956 

 Ans - (A) 1959 

44. Find the least number exactly divisible by 12 , 15 , 20 and 27 

 (A) 504  (B) 270  (C) 108  (D) 540 

 Ans - (D) 540 

 12>15>20 kw;Wk; 27 vz;fshy; rhpahf tFgLk; kpfr;rpwpa vz;izf; fhz;f. 

 (A) 504  (B) 270  (C) 108  (D) 540 

 Ans - (D) 540 

45. Who started Radhaswami Satsang in 1851 with Agra as its headquarter? 

 (A) Guru Saligram Sahib Bahadur    (B) Shiva Dayal Khatri 

 (C) Satyanand Agnihotri     (D) Madan Mhoan Malviya 

 Ans - (B) Shiva Dayal Khatri 

 Mf;uhtpy; cs;s jahs;ghf;if jiyikaplkhff; nfhz;L 1851 uhjhrhkp rj;rq;fj;ij 
njhlq;fpath; ahh;? 

 (A) FU rhypfpuhk; rh`pg; gfJ}h;   (B) rpt jahs; fj;hp 

 (C) rj;ahde;j; mf;dpN`hj;hp    (D) kjd; Nkhfd; khy;tpah 

 Ans - (B) rpt jahs; fj;hp 

46. The area of a circular field is 138600 m
2  

. Find the cost of fencing it at rate of Rs. 4.40 metre.  

 (A) Rs. 5800  (B) Rs. 5808  (C) Rs. 4808  (D) Rs. 6808 

 Ans - (B) Rs. 5808 

 xU tl;lkhd taypd; gug;gsT 138600  rJukPl;lUf;F &.4.40 tPjk;> mij Ntyp 
milg;gjw;fhd nryT fhz;f. 

 (A) &. 5800  (B) &. 5808  (C) &. 4808  (D) &. 6808 

 Ans - (B) &. 5808 

47. Gold is 19 times as heavy as water and copper is 9 times heavy as water. In what ratio should 

these be mixed to get an alloy 15 times as heavy as water ? 

 (A) 1 : 1  (B) 2 : 3  (C) 1 : 2  (D) 3 : 2 

 Ans - (D) 3 : 2 

 jq;fk; jz;zPiug; Nghy; 19 klq;F fdkhfTk;> jhkpuk; jz;zPiug; Nghy; 9 klq;F 
fdkhfTk; cs;sJ. jz;zPiug; Nghy;> 15 klq;F fdkhd cNyhff; fyit ngw> 
,itfs; vt;tpjj;jpy; fyf;fg;gl Ntz;Lk;? 

 (A) 1 : 1  (B) 2 : 3  (C) 1 : 2  (D) 3 : 2 
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 Ans - (D) 3 : 2 

48. Which year the National Health Programme was started in India ? 

 (A) 1980  (B) 1981  (C) 1982  (D) 1983 

 Ans - (C) 1982 

 ,e;jpahtpy; ve;j tUlk; Njrpa kdNeha; Rfhjhuj; jpl;lk; Muk;gpf;fg;gl;lJ? 

 (A) 1980  (B) 1981  (C) 1982  (D) 1983 

 Ans - (C) 1982 

49. A bird flies 200 metres west and then turns right and flies 100 metres. Next it turns east and flies 

300 metres. Again it turns and flies south for 100 metres. How far the bird from the starting 

point? 

 (A) 100 m  (B) 150 m  (C) 124 m  (D) 116 m 

 Ans - (A) 100 m 

 xU gwit Nkw;F jpirapy; 200 kPl;lh; gwe;J tyJ Gwk; jpUk;gp NkYk; 100 kPl;lh; 
gwf;fpwJ. gpd;dh; fpof;Nf jpUk;gp 300 kPl;lh; gwe;J jpUk;gp njw;F jpirapy; 100 kPl;lh; 
gwf;fpwJ. Muk;g Gs;spapypUe;J gwit vt;tsT J}uj;jpy; cs;sJ? 

 (A) 100 kP  (B) 150 kP  (C) 124 kP  (D) 116 kP 

 Ans - (A) 100 kP 

50. The ratio of circumference to the diameter of a circles is approximately 

 (A) 8 : 11  (B) 11 : 8  (C) 7 : 22  (D) 22 : 7 

 Ans - (D) 22 : 7 

 xU tl;lj;jpd; Rw;wstpw;Fk; mjd; tpl;lj;jpw;Fk; cs;s tpfpjk; (Njhuhakhf) 

 (A) 8 : 11  (B) 11 : 8  (C) 7 : 22  (D) 22 : 7 

 Ans - (D) 22 : 7 

51. If a : b = 2 : 3, b : c = 5 : 7 and c is 42 what is a = ? 

 (A) 12  (B) 20   (C) 21  (D) 22 

 Ans - (B) 20 

a : b = 2 : 3, b : c = 5 : 7 vdpy; c = 42 vd;why; a = ? 

 (A) 12  (B) 20   (C) 21  (D) 22 

 Ans - (B) 20 

52. The mass number of a nucleus is equal to the number of 

 (A) Electrons it contains    (B) Protons it contains 
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 (C) Neutrons it contains    (D) Nucleons it contains 

 Ans - (D) Nucleons it contains 

 xU mZf;fUtpd; epiw vz; vjd; vz;zpf;iff;Fr; rkk;. 

 (A) mjpypUf;Fk; vyf;l;uhd;fs;   (B) mjpypUf;Fk; GNuhl;lhd;fs; 

 (B) mjpypUf;Fk; epA+l;uhd;fs;    (D) mjpypUf;Fk; epA+f;spahd;fs; 

Ans – (D) mjpypUf;Fk; epA+f;spahd;fs; 

53. The potential energy of a particle executing simple harmonic motion is the maximum at its 

(A) extreme position     

(B) mean position 

(C) the midpoint of mean and extreme position  

(D) one third of amplitude from the mean position 

 Ans -(A) extreme position 

 vspa rPhpir ,af;fj;jpid Nkw;nfhs;Sk; xU JfsJ epiy Mw;wy; mjd; ve;j 
epiyapy; ngUkkhFk;? 

(A) Kid epiy 
(B) ika epiy 

(C) ika epiyf;Fk; Kid epiyf;Fkpilapyhd ikag;Gs;sp 
(D) ika epiyapypUe;J tPr;rhdJ %d;wpy; xU gq;F MFk; epiy 

Ans- (A) Kid epiy 

54.   

55. Which one of the following is non-steroid hormone ? 

 (A) Estradiol (B) Prostaglandin (C) Prosgesterone (D) Estrone 

 Ans - (B) Prostaglandin 

 fPo;fhz;fpwtw;Ws; ];Buha;L my;yhj `hh;Nkhd; vJ? 

 (A) <];l;uilahy;   (B) GNuh];Nlhfpyhd;bd; 

 (C) g;uf];bNuhd;   (D) <];Nuhd; 

Ans – (B) GNuh];Nlhfpyhd;bd; 

56. Point out the wrong statement in the following : 

 Statements : 

(A) The part of the cell which occurs between the plasma membrane and nuclear envelope is 

known as cytoplasm 

(B) The cytoplasmic matrix can perform movement due to cycolosis 
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(C) The matrix is the seat of various chemical activities 

(D) The cytoplasm is composed of only one type of structure i.e. matrix 

Ans - (D) The cytoplasm is composed of only one type of structure i.e. matrix 

fPo;fz;l fUj;Jf;fspy; jtwhdij Rl;bf; fhz;gpf;fTk;. 

fUj;Jf;fs; : 

(A) xU nry;ypd; gpsh];kh [t;tpw;Fk; cl;fUtpd; ciwf;Fk; ,ilg;gl;l gFjpapy; 
cs;s ghfj;jpw;F irl;Nlhgpshrk; vd;W ngah;. 

(B) irl;Nlhgpsh];kpf; Nkl;hpf;]; efUk; jd;ikia nfhz;Ls;sJ. 
(C) Nkl;hpf;]; vd;gJ epiwa Ntjpapay; nray; eilngWk; gFjpahFk; 
(D) irl;Nlhgpsh]k; xNu xU mikg;ghy; MdJ mJ jhd; Nkl;hpf;]; 

Ans – (D) irl;Nlhgpsh]k; xNu xU mikg;ghy; MdJ mJ jhd; Nkl;hpf;]; 

57. Oxygenated blood is carried from the lungs to the ------------------ by the pulmonary veins. 

 (A) Right ventricles    (B) Left auricle 

 (C)  Right auricle    (D) Left ventricle 

Ans – (B) Left auricle 

EiuaPuypy; ,Ue;J ----------- gy;Nkh rpiw %ykhf Mf;]p[d; Vw;wg;gl;l ,uj;jk; 
nry;fpd;wJ. 

(A) tyJ ntz;bhpfpy;    (B) ,lJ Mhpf;fpy; 

(C) tyJ Mhpf;fpy;    (D) ,lJ ntz;bhpfpy; 

Ans – (B) ,lJ Mhpf;fpy; 

58. The period at which organisms attains sexual maturity ? 

 (A)  Proestrous  (B) Puberty  (C) Diestrous  (D) Metestrous 

 Ans - (B) Puberty 

 xU caphpdj;jpd; ghy; gz;Gfs; Kjph;r;rp miljy; Neuk; 

 (A) Kd;v];lu];    (B) G+g;nga;Jjy; 

 (C) ilv];l;u];    (D) nkl;nl];l;u]; 

Ans – (B) G+g;nga;Jjy; 

59. In monohybrid cross a typical genotype ratio is 

 (A) 3 : 1  (B) 9 : 7  (C) 9 : 3 : 3 : 1  (D) 1 : 2 : 1 

 Ans - (D) 1 : 2 : 1 

 xw;iwg; gz;gff; fyg;gpd FWf;fpy; fhzg;gLk; kuGrhh; tbtk; 

 (A) 3 : 1  (B) 9 : 7  (C) 9 : 3 : 3 : 1  (D) 1 : 2 : 1 
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 Ans - (D) 1 : 2 : 1 

60. The secretion of adrenalin is contolled by  

 (A) Follicle stimulating hormone   (B) Thyroid stimulating hormone 

 (C) Adrenocorticotropic hormone  (D) Luteinising hormone 

 Ans - (C) Adrenocorticotropic hormone 

 ve;j `hh;Nkhd; ml;hpdypd; Ruj;jiy fl;Lg;gLj;Jfpd;wJ? 

(A) ghypf;fps; J}z;Lk; `hh;Nkhd;  
(B) ijuha;L J}z;Lk; `hh;Nkhd; 
(C) ml;hpNdh fhh;bNfhbuhgpf; `hh;Nkhd; 
(D) YAbidrpq; `hh;Nkhd; 

Ans- (C) ml;hpNdh fhh;bNfhbuhgpf; `hh;Nkhd; 

61. The word ‘secular’, ‘socialist’, and ‘integrity’ were added in which of the following amendments 

 (A) 42
nd

 Amendment    (B) 44
th
 Amendment 

 (C) 46
th
 Amendment    (D) 52

nd
 Amendment 

 Ans - (A) 42
nd

 Amendment 

fPo;f;fz;l ve;j rl;lj; jpUj;jj;jpy; ‘kjr;rhh;gw;w’> ‘rkjh;k’ kw;Wk; xUikg;ghL vd;w 
gjq;fs; Nrh;f;fg;gl;ld? 

(A) 46 tJ rl;l jpUj;jk;    (B) 44 tJ rl;l jpUj;jk; 

(C) 46 tJ rl;l jpUj;jk;    (D) 52 tJ rl;l jpUj;jk; 

Ans - (A) 46 tJ rl;l jpUj;jk; 

65. Indian Parliament passed the Administrative Tribunal Act in the year  

 (A) 1981  (B) 1982  (C) 1985  (D) 1986 

 Ans - (C) 1985 

 ,e;jpa ghuhSkd;wj;jhy; eph;thfj; jPh;g;ghar; rl;lk; eilKiwf;F te;j Mz;L 

 (A) 1981  (B) 1982  (C) 1985  (D) 1986 

 Ans - (C) 1985 

63. Constitutional safeguards to Civil Servants are ensured by 

 (A) Article 310  (B) Article 311  (C) Article 312  (D) Article 315 

 Ans - (D) Article 315 

 muR cah; mjpfhhpfSf;Fg; ghJfhg;gspf;Fk; murpayikg;G rl;l tpjpahdJ. 

 (A) tpjp310  (B) tpjp 311  (C) tpjp 312  (D) tpjp 315 
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 Ans - (D) tpjp 315 

64. The council of Ministers in a state is collectively responsible to  

 (A) Lok Sabha     (B) Rajya Sabha  

 (C) Parliament     (D) Legislative Assembly 

 Ans - (D) Legislative Assembly 

 khepy murpy; mikr;rh;fs; ,th;fSf;F fl;Lg;gl;lth;fshth;. 

 (A) kf;fsit    (B) khepyq;fsit 

 (C) ghuhSkd;wk;   (D) rl;l kd;wk; 

Ans – (D) rl;l kd;wk; 

65. Who of the following decides whether a Bill is a Money Bill ? 

 (A) The Finance Minister  (B) The Chairman of the Rajya Sabha 

 (C) The President   (D) The Speaker of the Lok Sabha 

 Ans - (D) The Speaker of the Lok Sabha 

 fPo;fz;lth;fspy; ahh; xU kNrhjh gz kNrhjhth ,y;iyah vd;gjid jPh;khdpf;fpwhh;? 

 (A) epjpaikr;rh;    (B) Nkyiyapd; jiyth; 

 (C) FbauRj; jiyth;    (D) kf;fsit rghehafh; 

Ans – (D) kf;fsit rghehafh; 

66. The famous book, ‘Principles of Public Finance’ was published in the year 

 (A) 1920  (B) 1921  (C) 1922  (D) 1923 

 Ans - (C) 1922 

 Gfo; ngw;w> “nghJ epjpapd; Nfhl;ghLfs;” vd;w E}y; ntspaplg;gl;l Mz;L 

 (A) 1920  (B) 1921  (C) 1922  (D) 1923 

 Ans - (C) 1922 

67. Family planning programme is implemented by which Government of India ? 

 (A) Central Government with full financial assistance of WHO 

 (B) Central Government with partial finance assistance of WHO 

 (C) State Government with full financial assistance of WHO 

(D) State Government with partial finance assistance of Central Government 

Ans - (D) State Government with partial finance assistance of Central Government 

,e;jpahtpy; ve;j muR FLk;g eyj; jpl;lj;ij eilKiwg;gLj;JfpwJ? 
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(A) ika muR – WHO-d; KO epjpAjtpAld; 
(B) ika muR – WHO-d; ghjp epjpAjtpAld; 
(C) khepy muR> WHO-d; KO epjp cjtpAld; 
(D) khepy muR> ika murpd; KO epjp cjtpAld; 

Ans – (D) khepy muR> ika murpd; KO epjp cjtpAld; 

68. Govt. has recently allowed 100% FDI in many strategic sectors. Which of the following sectors 

has not been opened up ? 

 (A) Space  (B) Refinerty  (C) e-Commerce (D) Power 

 Ans - (A) Space 

 ,e;jpa muR 100 rjtpfpj ntspehl;L KjyPl;il gy;NtW Jiwfspy; Cf;Ftpj;Js;sJ. 
mjpy; ve;j Jiw mjpy; <Lgltpy;iy. 

 (A) tpz;ntsp     (B) Rj;jpfhpg;G 

 (C) e-tzpfk;     (D) rf;jp 

 Ans – ( A) tpz;ntsp  

69. Assertion (A) :  The volcanic dust is considered to be responsible for ‘Little Ice Age’. 

Reason (R) :  Frequent volcanic eruption had initiated the process of Ice Age in the geological 

past. 

(A) Both (A) and (R) are false 

(B) Both (A) and (R) are true but (R) is not the explanation for (A) 

(C) Both (A) and (R) are true and (R) is the correct explanation for (A)  

(D) (A) is true but (R) is false 

Ans - (C) Both (A) and (R) are true and (R) is the correct explanation for (A)  

$w;W (A) : FWfpa gdpf;fhyj;jpd; cUthf;fj;jpw;F vhpkiyj; J}Rf;fs; fhuzkhf 
fUj;g;gl;lJ. 

fhuzk; (R) : njhz;ik fhy Gtp mikg;gpaypd; fUj;Jgb njhlh;r;rpahd vhpkiy 
rPw;wq;fs; gdpfhyj;ij njhlf;fkhf mike;jJ. 

(A) (A) kw;Wk; (R) ,uz;Lk; jtW 

(B) (A) kw;Wk; (R) rhp Mdhy; (R) vd;gJ  (A) tpd; rhpahd fhuzk; my;y 

(C) (A) kw;Wk; (R) rhp (R) vd;gJ (A) tpd; rhpahd fhuzk; jhd; 
(D) (A) rhp Mdhy; (R) jtW 

Ans – (C) (A) kw;Wk; (R) rhp (R) vd;gJ (A) tpd; rhpahd fhuzk; jhd; 

 70. Which of the following is / are correct ? 

 Major exports of Tamilnadu 

 I. Textile goods 
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 II. Chemicals 

 III. Petrolium 

 IV. Engineering goods  

 (A) I and II only   (B) I and IV only 

 (C) IV only    (D) I, II and IV only 

 Ans - (D) I, II and IV only 

 gpd;tUtdtw;Ws; rhpahdit vJ / vit? 

 jkpo;ehl;bd; Kf;fpa Vw;Wkjp nghUl;fs; 

I. Jzp tiffs; 
II. ,urhadq;fs; 
III. ngl;Nuhypak; 
IV. nghwpapay; nghUl;fs; 

(A) I kw;Wk; II kl;Lk;     (B) I kw;Wk; IV kl;Lk; 

(C) IV kl;Lk;      (D) I, II kw;Wk; IV kl;Lk; 

Ans - (D) I, II kw;Wk; IV kl;Lk; 

71. The standard created by Electronic Musical Instruments Industry to connect a music synthesizer 

to a PC and vice versa is -------------- 

 (A) MIDI  (B) MINI  (C) MIKE  (D) MIKI 

 Ans - (A) MIDI 

,ir ,izg;gLj;jpia fzpg;nghwpNahL ,izf;fTk; mjw;F kWjiyahfTk; 
nra;tjw;F kpd;dZ ,irf; fUtpfs; tzpfj;jhy; cUthf;fg;gl;l juk; ---------- MFk;. 

(A) vk; I b I (MIDI)    (B) vk; I vd; I (MINI)  

(C) vk; I Nf < (MIKE)    (D) vk; I Nf I (MIKI) 

 Ans - (A) vk; I b I (MIDI)  

72. What is the name of the Professor who coined the name computer ‘virus’ for self replicating 

programs ? 

 (A) John McAfee (B) Fred Cohen  (C) Ted Nelson  (D) Lance Hoffiman 

 Ans - (B) Fred Cohen  

 jd;idj;jhNd ngUf;Fk; jutpw;F> fzpdp er;Repuy; vd;w ngaiu njhFj;j Nguhrphpah; 
ngah; vd;d? 

 (A) [hd; nkf;/gp (John McAfee)  (B) ngul; Nfh`d; (Fred Cohen) 

 (C) nll; ney;rd; (Ted Nelso)   (D) yhd;]; M/g;Nkd; (Lance Hoffman) 
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 Ans – (B) ngul; Nfh`d; (Fred Cohen) 

73. A temporary storage area, attached to the CPU, for I/O operations is a 

 (A) chip  (B) buffer  (C) register  (D) core 

 Ans - (B) buffer 

 CPU -ld ,izf;fg;gl;Ls;s cs;Spl / ntspaPL nray;ghl;Lf;fhf cjTk; jw;fhypf 
Nrkpg;gfk;  

 (A) rpy;Y  (B) ,ilafk;  (C) gjpNtL  (D) cs;sfk; 

Ans – (B) ,ilafk;  

74. Palbinder Kaur Shergill was in news recently for 

 (A) Appointed as Canada’s Supreme Court Judge 

 (B) Appointed as Secretary, Department of Economic affairs 

 (C) Appointed as Judge of Supreme Court of India 

 (D) Appointed as Judge of Chennai High Court 

 Ans - (A) Appointed as Canada’s Supreme Court Judge 

 ghy;gpe;jh; fTh; nrh;[py; vd;gth; nra;jpjhs;fspy; tu fhuzk; vd;d? 

(A) fdlhtpd; cr;r ePjpkd;w ePjpgjpahf Njh;e;njLf;fg;gl;lhh; f 
(B) nghUshjhu Jiwapd; nrayyhf gzpakh;j;jg;gl;lhh; 
(C) ,e;jpa cr;r ePjpkd;w ePjpgjpahf gzpakh;j;jg;gl;lhh; 
(D) nrd;id cah; ePjpkd;w ePjpgjpahf gzpakh;j;jg;gl;lhh; 

 

Ans – (A) fdlhtpd; cr;r ePjpkd;w ePjpgjpahf Njh;e;njLf;fg;gl;lhh;  

75. The first Indian women to be elected to international tribute for the law of the seas is s 

 (A) Seema Malhotra    (B) Neeru Chadha 

 (C) Lakshmi Pandit    (D) Preet Kaur Gill 

 Ans - (B) Neeru Chadha 

 fly;rhh; rl;lq;fSf;fhd rh;tNjr jPh;ghaj;jpw;F Njh;e;njLf;fg;gl;l Kjy; ,e;jpa ngz; 
ahh;? 

 (A) rPkh ky;N`hl;uh    (B) ePU rj;jh 

 (C) yf;\;kp gz;bl;    (D) gphPj; fTh; fpy; 

Ans - (B) ePU rj;jh 

76. Which film has been declared as the best film in 62
nd

 Film Fare Awards 2017 ? 

 (A) Sultan  (B) Pink  (C) Neerja  (D)  Dangal 
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 Ans - (D)  Dangal 

 62 Mk; jpiug;gl tpUJ toq;F tpohtpy; 2017 ,y; rpwe;j jpiug;glkhf 
Njh;e;njLf;fg;gl;l jpiug;glk; vJ? 

 (A) Ry;j;jhd;  (B) gpq;   (C) ePu[h  (D) jhq;fy; 

Ans - (D) jhq;fy; 

77. Which is AUSINDEX – 17 related to ? 

 (A) Scorpene-Class Submarine   (B) Artillery gun 

 (C) Bilateral Maritime Exercise   (D) National Stock Exchange of Australia 

 Ans - (C) Bilateral Maritime Exercise 

 AUSINDEX-17 vjNdhL njhlh;GilaJ? 

(A) ];fhgPd; tif ePh; %o;fp fg;gy; 
(B) gPuq;fp 
(C) ,Ujug;G fly;rhh; gapw;rp 
(D) M];jpNuypahtpd; Njrpa gq;Fg; ghpth;j;jid ikak;     

Ans – (C) ,Ujug;G fly;rhh; gapw;rp 

78. Catosat-2E satellite was launched by ISRO through the launch vehicle 

 (A) GSLV-F09  (B) PSLV-C38  (C) RLV-TD  (D) GSLV-MK-III 

 Ans - (B) PSLV-C38 

 fhh;Nlhrhl; - 2E nraw;if Nfhs; ISRO – thy; ve;j thfdk; %yk; Vtg;gl;lJ? 

 (A) GSLV-F09  (B) PSLV-C38  (C) RLV-TD  (D) GSLV-MK-III 

 Ans - (B) PSLV-C38 

79. The theme for World Environment Day 2017 is  

 (A) Many species-one planet-one future 

 (B) Forests-Nature at your service 

 (C) Connecting people to nature 

 (D) Zero tolerance for the illegal wildlife trade 

 Ans - (C) Connecting people to nature 

 2017 cyF Rw;Wr; #oy; jpdj;jpd; fUg;nghUs; 

(A) gy ,dk;-XNu Nfhs;- xNu vjph;fhyk; 
(B) fhLfs;-%yk; ,aw;if ekf;F Nrit nra;fpwJ. 
(C) ,aw;ifNahL kdpjh;fis njhlh;Gg;gLj;J 

(D) rl;ltpNujhkhd tdtpyq;F thzpgj;ij Kw;wpYk; nghWf;f ,ayhJ. 



Winmeen VAO Mission 100 2018 

 

23 www.winmeen.com | Paid Copy – Don’t Share With Anyone 
 

Ans – (C) ,aw;ifNahL kdpjh;fis njhlh;Gg;gLj;J 

80. India’s latest communication satellite GSAT-17 was launched from 

 (A) Satish Dhawan Space Centre  (B) Kouro, French Guiana 

 (C) Taiyuan Satellite Launch Centre  (D) Vikram Sarabhai Space Centre 

 Ans - (C) Taiyuan Satellite Launch Centre 

 ,e;jpahtpd; GSAT – 17 vd;w njhlh;G nraw;ifNfhs; mz;ikapy; vq;fpUe;J Vtg;gl;lJ? 

(A) rj;jp]; lhthd; tpz;ntsp ikak; 
(B) ftuht;> /ngnuQ;R ifahdh 
(C) ijAthd; nraw;iff;Nfhs; VTjsk; 
(D) tpf;uk; rhuhgha; tpz;ntsp ikak; 

Ans – (C) ijAthd; nraw;iff;Nfhs; VTjsk; 

81. Bipin Chandra Pal addressed a huge crowd assembled on Marina Beach during the year 

 (A) 1917  (B) 1907  (C) 1906  (D) 1916 

 Ans - (B) 1907 

 nkhpdh flw;fiuapy; gpgpd; re;jpughy; ve;j Mz;by; kpfg;nghpa $l;lk; xd;wpy; 
ciuahw;wpdhh;. 

 (A) 1917  (B) 1907  (C) 1906  (D) 1916 

 Ans - (B) 1907 

82. Which among the following was the first Indian Vernacular Newspaper ? 

 (A) Sambadh Kaumudhi   (B) The Bengalee 

 (C) The Young India     (D) The People’s Friend 

 Ans - (A) Sambadh Kaumudhi 

 fPofhz;gitfSs; ,e;jpahtpd; Kjy; gpuhe;jpa nra;jpj;jhs; vJ? 

 (A) rk;gj; nfsKjp    (B) jp ngq;fhyp 

 (C) jp aq; ,e;jpah    (D) jp gPg;gpy; gpuz;l; 

 Ans – (A) rk;gj; nfsKjp  

83. Consider the following : 

 Assertion (A) : A typical Bacteria Escherichia Coli is a Prokaryote. 

 Reason (R) : It is able to swim by flagella. 

 (A) Both (A) and (R) are true and (R) is the correct explanation of (A). 

 (B) Both (A) and (R) are true but (R) is not the correct explanation of (A). 
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 (C) Both (A) and (R) are false. 

 (D) (A) is true, but (R) is false. 

 Ans - (B) Both (A) and (R) are true but (R) is not the correct explanation of (A). 

 fPo;fz;l thf;fpaq;fis ftdp : 

 $w;W (A)  : v];nfhprpah vd;w ghf;Bhpah GNuhNfhpahl;il rhh;e;jJ. 

 fhuzk; (R) : mJ firapioahy; efUk; jpwd; nfhz;lJ. 

(A) (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fk; MFk;. 
(B) (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fky;y. 
(C) (A) kw;Wk; (R) ,uz;Lk; jtW. 
(D) (A) rhp> Mdhy; (R) jtW. 

Ans – (B) (A) kw;Wk; (R) ,uz;Lk; rhp> NkYk; (R) vd;gJ (A) tpw;F rhpahd tpsf;fky;y. 

84. In 1930, the Salt Satyagragis marched from --------------- to Vedaranyam. 

 (A) Tiruchirapalli (B) Kanyakumari (C) Nagapattinam (D) Tiruvarur 

 Ans - (A) Tiruchirapalli 

 1930-k; Mz;L cg;G rj;ahfpufpfs; ------------ ,ypUe;J Ntjhuz;ak; Nehf;fp eil gazk; 
Nkw;nfhz;ldh;. 

 (A) jpUr;rpuhg;gs;sp     (B) fd;dpahFkhp 

 (C) ehfg;gl;bdk;     (D) jpUth&h; 

 Ans – (A) jpUr;rpuhg;gs;sp    

85. The book “Public finance” was written by 

 (A) J.M.Keynes  (B) J.S.Mill  (C) A.C.Pigou  (D) A.R.Prest 

 Ans - (C) A.C.Pigou 

 nghUshjhuj;jpy; “nghJ epjp” vd;w E}y; ahuhy; vOjg;gl;lJ? 

(A) N[.vk; fPd;];     (B) N[.v];.kpy; 

(C) V.rp.gpF      (D) V.Mh;.gpu];l; 

Ans – (C) V.rp.gpF   

86. Who was the poet responsible for the release of Cheran Kanaikkal Irumporai from the Chola 

Prison ? 

 (A) Poigaiyar  (B) Avvaiyar  (C) Kakkai Pandiniar  (D) Nakkirar 

 Ans - (A) Poigaiyar 

 Nrud; fizf;fhy; ,Uk;nghiwia Nrhoh; rpiwapypUe;J kPl;f cjtpaha; ,Ue;j Gyth; 
ahh;? 
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 (A) ngha;ifahh;    (B) xsitahh; 

 (C) fhf;if ghbdpahh;    (D) ef;fPuh; 

 Ans – (A) ngha;ifahh;  

87. One of the main weaving centres of the Imperial Cholas was 

 (A) Tondi  (B) Madurai  (C) Poombuhar  (D) Uraiyur 

 Ans -  (D) Uraiyur 

 Nrhog; Nguurpy; nerTj; njhopy; eilngw;w Kf;fpakhd ,lq;fspy; xd;W vJ? 

 (A) njhz;b  (B) kJiu  (C) G+k;Gfhh;  (D) ciwA+h; 

 Ans – (D) ciwA+h; 

88. What is next ? 

 ? @ ! +, @ ! + ?, ! + ? @, ………. 

 (A) ? @ ! +  (B) + ? ! @  (C) + ? @ !  (D) + @ + ! 

 Ans - (C) + ? @ ! 

 mLj;J tUtJ vd;d? 

 ? @ ! +, @ ! + ?, ! + ? @, ………. 

 (A) ? @ ! +  (B) + ? ! @  (C) + ? @ !  (D) + @ + ! 

 Ans - (C) + ? @ ! 

89. If ANGLE is written as CPING then PLANE must be written as  

 (A) RNCGP  (B) RNCPG  (C) RNCQG  (D) RCNPG 

 Ans - (B) RNCPG 

 ANGLE vd;gJ CPING vd vOjg;gl;lhy; PLANE vt;thW vOjg;gl Ntz;Lk;. 

 (A) RNCGP  (B) RNCPG  (C) RNCQG  (D) RCNPG 

 Ans - (B) RNCPG 

90.  

91. Two persons A and B are engaged in a work. A can do a piece of work in 12 days and B can do 

the same work in 20 days. They work together for 3 days and then A goes away. In how many 

days will B finish the work ? 

 (A) 9  (B) 10  (C) 12  (D) 17 

 Ans - (C) 12 

 A kw;Wk; B ,UtUk; xU Ntiyia nra;fpd;wdh;. A> 12 ehl;fspy; mt;Ntiyia Kbf;f 
KbAk;. B Mdth; mNj Ntiyia 20 ehl;fspy; Kbf;f KbAk;. A, B ,UtUk; Nrh;e;J 3 
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ehl;fs; Ntiy nra;jgpd; A mtiutpl;L nrd;Wtpl;lhh;. KPjp Ntiyia B vj;jid 
ehl;fspy; Kbg;ghh;? 

 (A) 9  (B) 10  (C) 12  (D) 17 

 Ans - (C) 12 

92. Find the missing alphabets in the given series : 

 13ca, 216fab, 25eb, 237-----, 46fd, …….. 

 (A) gce  (B) gcb  (C) gdb  (D) fcb 

 Ans - (B) gcb 

 nfhLf;fg;gl;l njhlhpy; Nfhbl;l> ,lj;jpy; ,Uf;f Ntz;ba vOj;Jfs; ahit? 

 13ca, 216fab, 25eb, 237-----, 46fd, …….. 

 (A) gce  (B) gcb  (C) gdb  (D) fcb 

 Ans - (B) gcb 

93. Muskmelon, Watermelon, Vegetables, Cucumber, Moong etc.., are growing during March to June 

in India. It is called as 

 (A) Kharif Crop  (B) Rabi Crop  (C) Zaid Crop  (D) Horti Crop 

 Ans - (C) Zaid Crop 

 jz;zPh; gok;> jh;g;G+rzpg; gok;> fha;fwpfs;> nts;shp> ghrpg;gaph; ,d;Dk; rpy gaph;fs; 
khh;r; Kjy; [Pd; tiu ,e;jpahtpy; cw;gj;jp nra;ag;gLfpwJ. ,tw;wpd; nghJthd ngah;. 

 (A) fhhpg;gaph;  (B) uhgp gaph;  (C) [aj; gaph;  (D) `hh;b gaph; 

Ans - (C) [aj; gaph;  

94. The numbers are in the ratio 15 : 11. Their HCF is 13, which of the following pairs can they be ? 

 (A) 194, 143  (B) 195, 142  (C) 195, 143  (D) 196, 144 

 Ans - (C) 195, 143 

 ,uz;L vz;fs; 15:11 vd;w tpfpjj;jpYs;s mitfspd; kP.ngh.t 13 vdpy;> fPNo 
nfhLf;fg;gl;l vz;fspy; vJthf ,Uf;f KbAk;? 

 (A) 194, 143  (B) 195, 142  (C) 195, 143  (D) 196, 144 

 Ans - (C) 195, 143 

95. Simplify x
2 
– 3x – 10/ x

2 
– x – 20 x x

2 
– 2x + 4/ x

3 
+ 8 

 (A) x+4   (B) 1/x+4  (C) 1/x+2  (D) x+2 

 Ans - (B) 1/x+4 

 RUf;Ff : 
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x
2 
– 3x – 10/ x

2 
– x – 20 x x

2 
– 2x + 4/ x

3 
+ 8 

 (A) x+4   (B) 1/x+4  (C) 1/x+2  (D) x+2 

 Ans - (B) 1/x+4 

96. The monthly income of a person is Rs. 5,000. If his income is increased by 30% then what is his 

monthly income ? 

 (A) Rs. 7,000  (B) Rs. 5,500  (C) Rs. 3,500  (D) Rs. 6,500 

 Ans - (D) Rs. 6,500 

 xUtUila khj tUkhdk; &.5>000 mtUila khj tUkhdk; 30% caUk; NghJ khj 
tUkhdk; vd;dthf ,Uf;Fk;? 

 (A) &. 7,000  (B) &. 5,500  (C) &. 3,500  (D) &. 6,500 

 Ans - (D) &. 6,500 

97. The value of (-5)(4)(2)(-1/2)(3/4) 

 (A) 10  (B) 15  (C) 12  (D) 0 

 Ans - (B) 15 

(-5)(4)(2)(-1/2)(3/4) d; kjpg;G 

 (A) 10  (B) 15  (C) 12  (D) 0 

 Ans - (B) 15 

98. If 4x + 5y = 83 and 3x/2y = 21/22 then y – x = ? 

 (A) 4  (B) 3  (C) 6  (D) 2 

 Ans - (A) 4 

If 4x + 5y = 83 kw;Wk; 3x/2y = 21/22 vdpy; y – x = ? 

 (A) 4  (B) 3  (C) 6  (D) 2 

 Ans - (A) 4 

99. If the length of a rectangle is doubled and the breadth is tripled then which of the following is 

true? 

 (A) Perimeter is multiplied by 5  (B) Perimeter is multiplied by 5/2 

 (C) Area is multiplied by 5/2  (D) Area is multiplied by 6 

 Ans - (D) Area is multiplied by 6 

 xU nrt;tfj;jpd; ePsj;ij ,U klq;fhfTk; mfyj;ij %d;W klq;fhfTk; Mf;fpdhy;> 
fPofz;ltw;Ws; vJ rhp? 

 (A) Rw;wsT 5 klq;fhFk;    (B) Rw;wsT 5/2 klq;fhFk; 
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 (C) gug;gsT 5/2 klq;fhFk;    (D) gug;gsT 6 klq;fhFk; 

Ans - (D) gug;gsT 6 klq;fhFk; 

 


